Grundriss
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SCHLAFEN
1947 m
Wohnflache
Diele 8,31m?
Wohnen/Essen 28,35 m?
ZIMMER ! Kiiche 8,70 m?
1251 Zimmer 2 13,48 m?
Bad 6,41 m?
Schlafen 14,47 m?
] Zimmer 1 12,51 m?
C-' B wcC 2,06 m?
% ‘ g Abst. 1 1,80 m?
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4:’# O Flur 5,85m
Zwischensumme 100,41 m?
3 - Putzabzug 1,5% -153m?
DIELE L ] o )
8.3t Summe 100,41 m*
Loggia 50%
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sl % RAR- - 0,5x15,72 m? 7,86 m?
ABST. 1 i f r— Abst.2 50%
180 mt . O 0,5% 2,50 m? 1,25 m?
: - Gesamt 108,52 m*
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ZIMMER 2
1348 m*
WOHNEN/ESSEN
28.35 m'
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LOGGIA ABST. 2

1572 m* 250 m




